Existing Window Conditions Proposed Window Conditions

New sashes to be set back
from external elevation as the
original existing sash

Non-original replacement top
hang s/g timber "sash"

min "A" 155 max |, L min "A"

P NOTES

1. Proposed sash details
apply to windows W3, W6,
W7, W8, W9, W9, W11.
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Original existing softwood painted s/g |
timber sash at bedroom 1
(See drawings A011 and A032) \
|

Existing plaster (to be —
removed)

existing stone cill, or new to match

xistin .
ﬁlew pginted internal cill
existing external wall

New internal wall insulation with ventilated
cavity as per Code for Sustainable Housing

Sash Existing (Level 3/4)

Casement
(non-original,
circa 1970s)

@ Typical Section Detail of Original Existing Sash
1:20

@ Typical Section Detail of a Proposed Sash
1:20

L Exterior $

[ T
] - d - ex external finish
(non-original, circa 1970s) - ex solid masonry wall
- 25mm cavity with 25 x 47mm vertical battens @
‘ 600mm centres

- 90mm Celotex GA4000 joints taped with
Glidevale's "Reinforced Reflective Single Sided"
tape to create a VCL + Air Leakage Barrier

- 25mm cavity with 25 x 47mm vertical battens @

L L L | 600mm centres
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Interior @Existing top hung casement —— Type 1" Wall (u-value = 0.20)
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- 12.5mm plasterboard
Exterior - 2.5mm plaster & paint
Existing original sash window
T T C1
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‘ Interior | I of ~— | O ol Reveal tape around cut (unfoiled) end of insulation
= [ o Q0000 L COL P
w w and to seal joint with window box
30mm MDF cill with gentle bullnose & mitred
corners
quirk bead on side and top reveals to be 35mm
‘ . _ ] from edge of window box
@ Plan Details of Existing Windows @ I}égICBJ Section Detail of a Proposed Sash
1:20 :
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